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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
o7 [RAPTRS o S Te frm

(a) Why 1is ‘gross domestic product’ not
considered to be an adequate measure
of economic development?

To ¥ TAWA'S {57 wAfor T oy
TR T SHIf2eT Jfel o 1 7= 2
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(2)

(b) What does the life expectancy at birth
indicate? ;

Gl dente SR 6 9@E 2

(c) Choose the correct one to fill in the
blank :

brings out the Human
Development Report for the member
countries of the United Nations.

( World Bank, IMF, UNDP )

% e qIfb Tferiz <1 o1 +F 9 :
SIP 1 SIRICHI (R |

(Y q, 9iR. @, @%., 30, <. fO. B )

{d) What is the meaning of ‘stationary state’
of an economy?

S ¢3me TR Ffe's 9L 2

(e} Give the meaning of capital-output
ratio.

T -BeeAR SeTe o o |

()’ What does X refer in equations used by
Domar in his growth model?

T (9S9 Ha WS J9RN
FNFIIETE KX 5L {52
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(3)

{g¢ Write True or False :

The main cause of backwardness and
regional disparities has been the weak
backwash effect and strong spread
effect.

) (o ST {14

SAPEE WIE S (RO A FET (R
3 HIERI-F S e FPI-FeT |

(hy Who propounded the ‘cumulative
causation’ theory of development?

TR ‘cumulative causation’ $GL0]
CFIC oS I Sfemmizfze

() What is the basic strategy of the theory
of balanced growth?

STElere T O 24 (S § 2

() Fill in the blank :

According to Prof. Hirschman,
development can take place only by
____ the economy.

el o1 8 1 :
e RocER oo sdAifexE TR
T S 2 |
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(4)

2. Answer the following questions : 2x5=1
worq 2RICIRS e o

(a) Mention any two limitations of per
capita income as a measure of economic
development.

st e eE S o @i
e R e 751 R%e! Teard 4 |

(b) State the two indicators used to
calculate education index in preparing
human development index.

T T S 2Efed A9 PR PpeT TH
GRE I T e o1 T 0 |

(c) What is warranted growth rate of
Harrod model?

@S RS TRy T 29 92

(d) What is the social overhead capital?
S PSR o I Q@0 ?

() State two assumptions made by
Prof. Lewis about the traditional sector
of a dual economy.

SR T2 G (70 AT AR AL
M ¢ Hierf o1 for=i o
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(5)

3. Answer any four of the following questions :

Sx4=20
Wﬁﬁmﬁmwﬁtﬁ%mm:

(@) Describe the dimensiong of HDJ.

HDI-3 Jraizare 6 97 |

(6) Explain the role of technical Progress in
the growth Process,

wmmmmww.

{c) Bring out the relevance of the classical
growth mode] in today’s world.

(d) State the centra] theme of the

() Describe how Gunnar Myrdaj €xplaing
the backwash effect in regards to under
development.

() Describe Hirschman’s idea of gejf
reliance in the context of unbalanceqd
growth theory.




(6)

4. Answer any four of the following questions :
10x4=4(

O] 2PN [ CPICT BifBR T oy

(@) “Development is not mere growth.
Rather, it is a multidimensional
concept.” Explain.

TR (R A WG R | [ 3w
G RN Q19T 1° <9100 %41 |

(b) Describe the obstacles to economic
development in developing countries.

TS (T 3 ST S
SRR <l o |

(¢) In the context of Adam Smith’s theory of
development, explain the concepts of
(i) division of labour and (f) role of
capital accumulation.

S T SR ©gR e (i) W e
S () IE JEeTE S q@e gh
RO <51

(d) Explain the relationship between
population growth and economic

growth.
ST T TS TR gl T
IR T |
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